BB RER A R A A

o R B A

T RRXTHE 23 5

M HE: www. whruntong. com


http://www.whruntong.com

BEHERRENEARAFARETHERRAERAR, BREWAEHERA
A RIERAREN&EFRARAEY, mEMYEOBEELELZEREEANTS, FRT
AH600 RN, HERE. RM. BIE. BMNSHREEESEL, F7ME 6127T.

AR “WLREHEVRTGEE” 40, BEE T IS09001. IATF16949 B EH
RRINE, B4k HQC 7= MR B AR INIEXENJE SNI. BN BIS FHEZINIE. FBERR
KRE. BERRS, AFFREETEAIMRZSEFNA, ANEEERQD, 7
CCEERIIRES:

2020 FRLBIFHBERBNEARATF, 5FBREREEIT T EHEREK
AR RENMARKPERN, G681 B 30 RENBRERS MAESER, N EZK%T
REATVEFHRARERZER, HRISRE 2147, ERTFAHMEBERE, WEE™E,
AEFEERE TS MBS RBRERME 210 HE, FITAERIEN BEETERT
SR RBRERE

BHl, RAFREAZSHET MM BAZHE. iXTNRE. MEE
SEE. BERMHES 300 /K7, HRESAHARFEES. ANEAFEENZRE
AFNBTREES, FmREEEENMLEKTE, BEARERT. WK HEL.
Fa KA, KBFER FERE K.

Weihai Runtong Vibration Control technology Co., Ltd., subordinate to
Runtong Rubber Co., Ltd., is a high—tech enterprise specializing in the
production of inner tubes and tyre curing bladder. Its output and export
volume have been at the forefront of China for many years. It now has more than
800 employees, and has resident offices in Dongying, Xuzhou, Jiaozuo, Yanzhou

city, with an annual output value of 600million RMB.

The company is an ”“individual champion of manufacturing industry in
Shandong Province”, and has passed IS09001, IATF16949 quality management
system certification, Indonesia SNI and India BIS national certification.
With excellent quality and perfect service, the company’ s products have been

recognized by many customers .

In 2020, Weihai Runtong Vibration Control technology Co., Ltd. was established,
and an industry university research agreement on the development and

application of key technologies of air springs was signed with Qingdao



University of science and technology. Combined with the factory’ s own more than
30 years of rubber product production experience, and in compliance with the
national mandatory requirements for the upgrading of the automotive industry,
it plans to invest a total of 200million RMB to launch the air spring project.
After the project 1is completed, it can produce 2.1 million sets of
high—performance air springs and other rubber shock absorption devices
annually, It mainly provides medium and high-end air springs and

shock—absorbing devices for domestic and foreign main engine manufacturers.

At present, our company has more than 100 kinds of air spring product
specifications: membrane air spring, curved air spring, sleeve air spring,
rubber spring, etc., and the specifications and models are constantly being
developed and enriched. The team has rich production and R & D capabilities
of air springs, and the product quality has reached the leading level . It has
the advantages of good air tightness, fatigue resistance, aging resistance and

long service life. Welcome new and old customers to negotiate.



Bellow No.
1R19L-7

0749SA

270

L-_é v

383

Firestone :W01-M58-0749
:1T19L-7

Contitech :810NTB
Goodyear :1R14-713
Phoenix :1DK28A4
Dunlop UK :PNP311380000
Taurus :UR621-03

CF Gomma :1T19E-1
Airtech :34810T

Pegaso :174933

MAN :81.43601.0042
:81.43601.0047/81.43601.6019

Bellow No.
1R19L-7
RT436.270
-1

6345

2XM12X1 75
7 \M22x1 \ T

140

I

R 4XM12X1.75

Firestone :W01-M58-6345
Contirech :810MB

Goodyear :1R14-716

Phoenix :1D28A-2

Wewelerl :US07337/US00622
:US87413

Tec :506243/01

Granning :15635
ROR/Meritor:21215632/21208082
SAF :2.229.0002.00
Hendrickson :506243

Volvo :1080707

DAF :1384273

Bellow
No.
0V19F-7

9121

270

1/4ANPT

J 3/4-16UNF

225

NS

[T

0 I

\ 4x1/2-13UNC

140
®

?
1/2-13UNC |

Firestone :W01-358-9121/1T19L-7
Contitech:1110.5-17A317/4810N03
Goodyear:1R13-039/043/049/067
:1R11-918/1R14-043
Sauer:P50-733/Leland:SC2040
Reyco:12882-02/Dayton:3529121
Triangle:8137/6365/Airtech:39121P/K
Brake&Wheel:M3517/Volvo:3130503
Hendrickson :554773C1
Waston&Chalin:AS-0013/WCTA300
Tuthill :6424/1288202
Holland(neway):90557019/AR11151
:90557052/AR70/90557083/90557110
:90557078/AR80(6,75)
R&Struck&Body :1090023

Ridewell :1003589121C




Firestone :W01-M58-6338/1T19L-7

Bellow 320 289
No.3 ) 2XM12X1.75 | i Contitech :4810NP05/61162
1R19L-7 fﬂ‘=-‘:5=ﬂi 5 Goodyear :1R14-730
"M22x1.5 Phoenix :1D28A10
i Taurus :KR621-18
. Dunlop FR :D13B25
185 :1T19E-1/205456
6338 :
Airtech :133422/32918K
Granning :16092/133422/32918K
WABCO :9518147300
SAF :3.229.0027.00/2918V
L :3.229.0027.00
v Meritor :MLF7025
R 4xM12X1.75
Bellow . 270 287 Firestone :W01-M58-7335
No.3 1T19L-7
1R19L-7 Contitech :810MB
RT436.27 Goodyear :1R14-082
0-1 260 Taurus :KR621-7335
Granning :15606
7335 ROR/Meritor :21208327
117204516
Bellow > Goodyear :1R14-028
No. 4x1/2 13UNC SAF
1R19L-7 Steel Piston
1/4NPT
550
L
9178 169

\ 4XM12X1.75




Bellow 200 Firestone :W01-358-6344
No. I‘ CF Gomma :1T19E-1
1R19L-7 Viberti :128147128
6344
Bellow 2XM1Z)2(?.75 ‘ o 289 -
No. f%%* '
1R19L-7 Neizzova
550 I
13;
6346 1]3
i—— |
R4XM12X1.75
Bellow e 240 > " 287 > | Firestone :W01-681-7329
No. Granning :11903/1620
1R19L-7 Tﬁ Piston :Wc16759446
540
L,I
le 225 N 181
7329 I il " 260 -
A
140
v v




Firestone :W01-M58-8772

Bellow . 270 " 289
No. ‘ 1T19L-7
1R19L-7 Phoenix :1DK28A7
CF Gomma :1T19E-1/96884
Airtech :133822/36884C
Bertoja :46311001
260 Zorzi :1006546
8772
Bellow 320 = 289
No. r_v_|22x1.5
1R19L-7 fg]ﬁ:;;l=[&—
[4XM12X1.75 T
560
1;0
8774
140
R 4xM12x1.75 )
Bellow 330 « 289 > | Firestone :W01-358-8776
No. ' o0 1T19L-7
1R19L-7 : A Reyco/Tuthill :21767-01
560
180
8776 -

nﬂ Hn |
1/2-13UNC. "Q 41.5]




Firestone :W01-358-8778

9135

Bellow 270 289
No. - = N Contitech :4810NP04
1R19L-7 Goodyear :1R14-028
Neway :90557164
8778
Bellow - 330 5| Firestone :W01-358-9116
No. 3/4NPTF BSI 1T19L-7
1R19L-7 fﬂﬁ’ | Contitech :1110.5-17A556
g W Triangle :8556/6365
Pezzani
560
9116
Bellow < 250 > 289 Firestone :W01-358-9135
No. AT19F-7
1R19L-7 Contitech :1110.5-17A368

Unit Rig :10160.4
Dart :21-048-1016034
Triangle :8377/6365




270

Firestone :W01-358-8778

Bellow 289
No. h & Contitech :4810NP04
1R19L-7 Goodyear :1R14-028
Neway :90557164
8778
Bellow - 330 5| Firestone :W01-358-9116
No. 3/4NPTF BSI 1T19L-7
1R19L-7 fﬂﬁ’ | Contitech :1110.5-17A556
g W Triangle :8556/6365
Pezzani
560
E'_t
9116 180
Bellow - 350 > 289 Firestone :W01-358-9135
No. AT19F-7
1R19L-7 Contitech :1110.5-17A368

9135

Unit Rig :10160.4
Dart :21-048-1016034
Triangle :8377/6365




Bellow
No.
1R19L-7

9141

<

1/4NPT
v 3/4-16 UNF
1/2-13UNC /" \

330

AN

®
\4X1/2-13UNC

>|

289

Firestone :W01-358-9141/1T19F-7
Goodtear :1R14-215

Sauer :P50-733

Ridewell :1003589121C
Watson&Chalin :AS-0013

Bellow
No.
1R19L-7

9179

330

289

Firestone :W01-358-9179/1T19F-7
Contitech :1110.5-17A366/64342
:1110.5-17A316/64345

Goodyear :1R14-028/566283011
Taurus :AS621-9177/AS621-9179
Navietar/IHC :554779C1
Neway:90557003/AR-1115-1-F
Batco:10-99177/Leland:Sc2046
R&STruck:1090216

Triangle :8316/6365
Midland/Haldex :Cs114028

HD Ameica :PMABG-9177B
UCF/Impex :AB-1R14-028
T.W.Distribution :AB9177

Ridewell :1003589177C
Watson&Chalin :AS0010

Bellow
No.
1R19L-7

9221

289

Firestone :W01-358-9221
1T19F-7

Contitech :1110.5-17A388
Load Air :P60733

Tuthill :2692

Triangle :8512/6363




Bellow < 380 > 289 > | Firestone :W01-358-9811
No. 1T19L-7
1R19L-7 | | 40) Rowe Truck :ASC2000 Ride
266
< 483
l_‘

L_/91‘124.5
9811 0 ﬂ N

289 Firestone :W01-358-ROCK

Bellow M20X1.5 < >
No. v 1/4NPTF
- A
1R19L-7 ‘i
max.335
165-475

9812 | !
95‘.9

&— | 200

R M12x1.75
Y
Bellow — o 289 _ | Firestone :W01-358-9961
No. 1T19L-7
1R19L-7 Contitech :1110.5-17A367

Goodyear :1R14-115
Ridewell :1003589961C

9961




Bellow Firestone :W01-M58-0918
No. [ 1T19L-11
1R19L-11 SCANIA :1314906/298568
522.270-1 ,/) :1107674/325748
31410 ‘ Service assembly for 7358
I o
0918SA I
# 265
Bellow < 320 > Firestone :W01-M58-6359
3XM10X1.25
No. ﬁ “QQ‘ 1T19L'11
1R19L-11 M22xLs T Contitech :811MB
Goodyear :1R14-718
Dunlop FR :D13B34
CF Gomma :1T19E2
1203878
6359 RENAULT V.I:5.000.745.918
Bellow { 320 } Firestone :W01-M58-6334
No. M16X1.5 1T19L-11
1R19L-11 P Contitech :81M16K1
\3XM10X1.25 T Goodyear :1R14-719
660 Phoenix :1D28B-7
L Taurus :KR622-31
240 Dunlop FR :D143B36
6334 Hniop

\4XM12X1.75

Airtech :3811K
DAF :0067306




Bellow
No.
1R19L-11

8792

1/4NPT

l | 3/4-16UNF ||
1/2-13UNC T

680

220

:4XM12X1.75

Firestone :W01-358-8792/1T19L-11
Contitech :813MB

Goodyear :1R14-045/13-038
13-048/14-060

Airtech :132112/39122C
Neway :90557020/90557071
:90557076/90557077

Reyco :12883-02

Sauer :P50-732

Tec :5006003

Triangle :1003589122C
Watson&Chalin :AS-0023
Hendrickson :B3830/S3467
:B-12514-008/B-12514-010

Bellow
No.
1R19L-11

320

9156

M10X1.5
v

A
v

%'ﬂ“u%y

\4XM12X1.5

Firestone :W01-358-9156
A1T19L-11

Contitech :4813NP0Q7
:1110.5-21A370
Goodyear :1R13-045/1R14-019/025
City Welding

Peerless :0500-0080
Leland :Sc2044

Navistar :1681742CA1
Triangle :8370/6366
Hendrickson :A7128

Bellow
No.3
1R19L11

7370

4XM10X1.5 u
M14X1 3]

\4XM12X1.75

Firestone :W01-M58-7370
1T19L-11

Contitech :4028NP05
Goodyear :1R14-721
Dunlop FR :D14B51
Battaglino :2211400
ROR/Meritor :21222239




Bellow Firestone :W01-358-8764
No. 1T19L-11
1R19L-11 Holland :90557260
8764
Bellow Firestone :W01-358-8796
No. 1T19L-11
1R19L-11 Holland(Neway) :90557283RI300
8796
Bellow Firestone :W01-358-9152
No. 1T19L-11
1R19L-11 Contitech :1110.5-21A318

9152

Goodyear :1R14-019
Triangle :8318/6366
Columbia Trailer




Bellow

Firestone :W01-358-9199

9985

260

_ 270
No. N 1T19L-11
1R19L-11 Contitech :1110.5-21A558
3/ANPTF Pezzani
Triangle :8558/6366

9199
Bellow 289 Firestone :W01-358-9201
No. 1T19L-11

1R19L-11 Ridewll :1003589201C

9201

Bellow Firestone :W01-358-9985
No. 1T19L-11

1R19L-11 Watson&Chalin :AS-0081




Bellow

Goodyear :1R14-201

1/4NPTF
No ni_r,. 3/4-16UNF ﬂ
1R19L-11 [
660
2I410
9123
178
1/2-1:3UN*C
Bellow " 320 -
No. 2XM12X1.75
1R19L-11 . I
\M22X1.5
698
H
5662 |
178
| ) ——— | | l
MXM12X1.75
1T19L-1 PI66 #287
4 mwex s = . Contitech 4912NP08
RUNTON Goodyear 1R13-713
G 31412 (W T CF Gomma 1T19E-4
4912NP08

603.5




Bellow 320 289 | | Firestone :W01-M58-8786
No. r M16x1.5 4T19L-14
1R19L-14  12axt.s Contitech :4912NP07/60880
Q T Goodyear :1R13-711
Phoenix :1DK28F4
Dunlop FR :B13B40
Airtech :131202/34912K
6146 Granning :16046
WABCO :9518137110
Renault :5.010.294.307.C
Meritor :MLF7063
RVI :5.0.10.294.307B
Bellow 320 Contitech :4912NP05
No. i M16x1.5.
1R19L-14 M24x1.5 |
o o] S
790
L_|
267
8786
228 .
Bellow " 330 5 Firestone :W01-095-0500
No. L Contitech :4913NP02
1R19L-14 f‘c * M16X1.5 % T Goodyear :1R14-753
797 Phoenix :1D28H-16
L Taurus :KR625-16
298 Dunlop FR :D14B42
| CF Gomma :1T19E-93
0500

:M16X2.0

Airtech :132122/34913K
Granning :16105
WABCO :9518147530
Meritor :MLF7081

Scania :1379392/1402423




Bellow
No.
1R19L-14

0501

_ 330 _
7 Miex1.5 N

|

Fierstone :W01-M58-8535
Goodyear :1R14-869
:566-28-3-522

Contitech :6700NP02
Airtech :34608P

Granning :15695

Scania :1774804/117804
:1903608/1903668

Bellow
No.
1R19L-14

6033SA

262

|
i
I
I

I———n——

oy
Lt m16x2.0

iy

608

210

Contitech :4913NP04
Airtech :120582/34913P
DT :1.25855

Airfeen :20.4913.2CM
FEBI :20503

Templin :04.010.6100.250
:04.060.6106.251
Peautomotive :084.119-11A
:125.218-10A

Meritor :MLF7139
Scania: 1379393

Bellow
No.
1R19L-14

7385

320

< — >

M12X1.75
‘ -
M22X1.5

N4XM12X1.75

- 289 -

Firestone :W01-M58-7385
:W01-M58-8786

Contitech :912NP02
Phoenix :1D28D-2
Goodyear :1R14-028
Fruehauf :M060770
Weweler :US96681F
R.O.R/Meritor :21222673

SAF :3.229.0013.00/3.229.0005.01

:3.229.0006.01
Hendrickson :Y507782




Firestone :W01-358-9264

Bellow _ 270 N
No. N i Contitech :1110.5-225712
1R19L-14 fﬂ [_ﬁli Goodyear :1R14-127
T Triangle :8539/6413
Holland(Neway):90557104
WatsonChalin :AS-0063
9264 Hendrickson :S13122
Bellow 335 Firestone :W01-M58-8502
No.3 e T—— :1T19L-14
1R19L14 £ Contitech :912NP01
Goodyear :1R14-728
Phoenix :1D28D-10
- Airtech :132702/32926K
262 Granning :15669
6034 | WABCO :9518147280
****** ? Steel Piston
SAF :3.229.0030.00
216 SAF Type :2926NP01
Meritor :MLF7083
] vV v
RaxM12x1.75
Bellow < 225 > Firestone :W01-M58-8502
No. MZX1R Contitech :912NPO1
1R19L-14 R 1o 5 —T Goodyear :1R14-728/566-28-3-510
Airtech :132702
SAF :3.229.0030.00
UEWELER US 07385GSTZ
8502

‘§4XM1 2X1.75




Bellow

Firestone :W01-358-9915

No. 1T19F-14
1R19L-14 Q_H_U_HT Holland(Neway) :90557104
Watson&Chalin :AS-0063
9915
Bellow - _ | Firestone :W01-358-9929
No. B | AT19F-14
1R19L-14 Holland(Neway) :90557106
9929
RT420.23 3262 Contitech 4919 N P01
8-1
uy
] &
4919

220-580

160

160

I

o
3200

0284 (max. 294)
dp; @30




RT460.26
5-1

4916

470

CONTITECH
4916N1P0O7
Firestone No
W01-M58-8356
Firestone Style

1T17HLR-7.5

RT500.23
8-1

4884

CONTITECH 4884N1P01

CF Gomma No 207759

CF Gomma Ref 1TS290-28
Firestone No W01-M58-8361
Firestone Style 1T17JBR-8.0
Goodyear 1R11-820

Goodyear Flex No 566-22-3-540
Vibracoustic VIDF19B-1 NP

Bellow
No.
1A4884
RT500.23
8-1

>

) 60:
>

.hM‘I2X1.5

6047

262

Contitech :4884N1P06
Airtech :34884K

Airfren :20.4884.6.CM

DT :3.66423

Templin :04.010.6200.080
MAN :81.43600.6035




Bellow Contitech :4882N1P01
No. . 0220 Goodyear :1R10-702
1A4882 mh | Airtech :122122/34882P
RT525.23 Granning :94002
8-1 DT :3.66404
™ Peautomotive :084.249-10A
:084.249-70A
4882 ° Templin :04.010.6400.930
in :04.060.6106.930
’ Meritor :MLF7136
| MAN :81.43601.0151
Bellow 260 262 Contitech :4882N1P05
No. “ M12X1.5 ! Airtech :135512/34882C
1A4882 Eﬂ“ "M_ 16X1. 5 Airfren :20.1882.5CM
RT52523 | & DT :3.66422
8-1 MD :14882-K/116102-10
Templin :04.010.6100.930
MAN :81.43600.6036
6045 —
[/ \ T
E _ g 130
o l
= 177 4
RT4157N B 4157NPO5SA
15MPW-7

451




RT4157N | 300 R Firestone :W01-M58-6297
15MPW-7 M12X1.25 - 1T15MPW-7
Bellow M2zxis Contitech :4157NP04/60369
No. T Goodyear :1R11-111
1T15MPW Phoenix :1D21A4/1D21A8
-7 565 Dunlop FR :D12B18
L Taurus :KR915-54
6297 208 Airtech :133302
Granning :15731
Pirelli :1T300-40
WABCO :9518111110
Weweler :US06287/US07364
ROR/Meritor:21221307
Mercedes BENZ:A9463281401
\M12X1.75
RT4157N - 300 s Firestone :W01-M58-6260
15MPW-7 1T15MPW-7
Bellow Airtech :136492/36260CPP
No. Hendrickson :59053-2F
1T15MPW Rena alt Magnum Truck
-7
528
6260 1;3
112
Vv
NM12X1.25 40
v
RT4157N b% 231 Firestone :W01-358-8944
15MPW-7 Contitech :910-17.5P436
Bellow 4 R Goodyear :1R12-366
No. :566-24-3-038
1T15MPW 551 Hendrickaon :S202-17
-7 5
185
8944

\1/2-13UNC




RT4157N
Bellow
No.
1T15MPW
-7

6315

300

v

M12X1.5

M20X1.5 4

A M12x1.75

Firestone :W01-M58-6315
A1T15MPW-7

Taurus :KR91521/KR915-51
Goodyear :1R11-772

Contitech :4157NP10

Phoenix :1DK20A51/1DK23K54
Acerbi :441901

Fruehauf :441901/M060924
:UJB06/UJB0975

Airtech :133322/39002-A3-01KPP
Granning :15769

WABCO :9518117720

Meritor :MLF7023

RT4157N
Bellow
No.
1T15MPW
-7

6317

Firestone :W01-M58-6317
1T15MPW-7

Phoenix :1DK20C-2
Goodyear :1R11-773
Taurus :KR915-53NW
Contitech :4157NP08
Dunlop FR :D12B30
Fuehauf/SMB :M078580
Neway :90557233

Airtech :134262/39002-A3KPP
:39002-08KPP

Granning :15750

WABCO :9518117730
Meritor ;MLF7180

RT4157N
Bellow
No.
1T15MPW
-7

7074

300

A

M12X1.5

M22X1.5 3|H

\M12X1.75

M12X1.75

231

Firestone :W01-M58-7074
1T15MPW-7

Contitech :4157NP05/61380
:4157NP09

Goodyear :1R11-106
Phoenix :1DK21A-3

Dunlop FR :D12B17

CF Gomma :1T300-38
Taurus :KR915-54

Weweler :USO7074F
Granning :15732

Pirelli :1T300-30

Airtech :133282/39002-A3P
WABCO :9518111060
ROR/Meritor :21222442




300

RT4157N < > Firestone :W01-358-6262
Bellow 1T15MPW-7
No. T Contitech :910-17.5P831
1T15MPW i Arvinmeritor :21227742FS25
-7 =
208
A
le 204.5 »
6262 '
172

1/2-13UNCA ;53
RT4157N 300 231 Firestone :W01-M58-7074
Bellow I M12X1.5 - A T15MPW-7
No. M22X1.5 '\ Contitech :4157NP05/61380
1T15MPW T :4157NP09
-7 Goodyear :1R11-106

565 Phoenix :1DK21A-3
L Dunlop FR :D12B17
7074C 208 CF Gomma :1T300-38
Taurus :KR 915-54
Weweler :US07074C/US 07074P
172
| J ~L v
\M12x1.75

RT4157N 300 Firestone :W01-M58-6317
Bellow [ M12X1.5 > Contitech :1R11-773
No. M22X1.5 % Goodyear :1R11-773
1T1SMPW “ N M12X1.75
-7
7075 298

\M12X1.75




RT4157N

291

Firestone :W01-M58-8186

< - 231 .
Bellow 2.M10 M22X1.5 Contitech :4157NP06
No. S Goodyear :1R11-764
1T15MPW Phoenix :1DK20A1
-7 Dunlop UK :D11B37
Schmitz Trailer :751065
5186 Weweler :USO6316F
Granning :15783
Airtech :133802/38186KPP
WABCO :9518117640
RT4157N Firestone :W01-M58-8840
Bellow ’_ﬂ__:ﬂ.R7 :1T15MPE-7
No. Weweler :USO8840
1T15MPW
-7
S
<
8840
|
b
|
| ©200
@290 (max. ®300)
dg ®315
RT4157N 231 »| | Firestone :W01-358-8903
Bellow 2310 1T15MPW-7
4-16UNF .
No. 1/4-16MPTF _1/2.13UN(] Contitech :99-14A517
1T15MPW 1l gr :910-17.5P536
-7 2 Triangle :8538/6414
Holland(Neway) :90557169
8903 o = »
3
I
o
=z
i [
LI1i2-13UNC

2260




Bellow

1T15MPW-9

B2 54 e i g
No. Wizct756 W01-M58-6287
1T15MPW ﬁ'ﬂ = Qﬂ% T@! :
-9
RT4157N-
2
WO01-M58- ( E )
6287 =
i
Bellow 300 = 231 » | Firestone :W01-M58-6318
No. < ——— 1T15MPW-9
imismew | | VX2 M ook s Airtech :135872/36318CPP
9 | Weweler :US06318F
RT4157N- T Schmitz Trailer :016512
2 617 Granning :15783
4 Meritor :MLF7038
6318 195
172
L
Bellow < 300 s 231 Firestone :W01-M58-8185
No. M10X1.5 M22X1.5 ) | 1T15MPW-9
1T15MPW a v L Contitech :4157NP03/60452
9 H O 0 R ? Goodyear :1R11-749
RT4157N- Phoenix :1DK20B-1
2 400 Dunlop FR :D12B22
Vibracoustic :V1DK20B-1
WO01-M5 Taurus :DA34158/0103
8-8185 Weweler :US06285F

Schmitz Trailer :750999
Granning :15657

Airtech :133782/38185KPP
WABCO :9518127490
Meritor :MLF7037




Firestone :W01-M58-6238

Bellow 300 231
No. = M12X1.5 & 1T15MPW'9
1T15MPW M20X1.5 Weweler :USO6288F
9 A Airtech :133192/36238CPP
RT4157N- | | \M12x1.75 \ lecinena Trailer
2
400

WO01-M5
8-6238

M12X1.75
Bellow a 300 231 »| | Firestone :W01-968-6286
No. M10X1.5 M22X1.5 Schmitz :751020HP
1T15MPW S | Weweler :US06286F
9 ~oU T
RT4157N- 650
2
WO01-96
8-6286
Bellow Firestone :W01-M58-6287
No. Contitech :4158NP04
1T15MPW g%g&g Weweler :USO6287F
-9
RT4157N- \w
2
WO01-M5
8-6287

\M12X1.75




Bellow
No.
4881

WO01-M5
8-8601

fl

ML

RTSPRING
4881

430

Firestone :W01-M58-8601
:1T66F-7.0

Contitech :4881NP02/50495
Goodyear :1R14-701
Phoenix :1DK32K

Taurus :UR838-01T
Dunlop FR :D14U37
Airtech :120462/34881P
Granning :15961

WABCO :9518950600
Meritor :MLF7040

BPW :05.429.40.01.0
BPW Type :BPW36K
IVECO :500036829

Bellow
No.
4881

W1-M58
-8602

380

144

#315

Firestone :W1-M58-8602
:1T66D-7.0

Contitech :4881NP02
Goodyear :1R14-757
Dunlop :D141444
Granning :16905

BPW :05.429.40.08.1
:05.429.41.21.0/05.429.41.31.0
:05.429.41.36.0

BPW Type :05.429.43.41.0
IVECO :500036830

Bellow
No.
4881

WO01-M5
8-8666

e

151

320

@250

@360

dg $380

CONTITECH 4881NP30
Huffermann 6-AB8003-0200

CF Gomma No 207309

CF Gomma Ref 1TC360-40K
Firestone No W01-M58-8666
Firestone Style 1T66F-7.0
Goodyear 1R14-757

Goodyear Flex No 566-28-3-505
Vibracoustic VIDK32K Y10




Bellow
No.
881

WO01-M5
8-8978

524

M 16

Firestone :W01-M58-8978
:1T66F-10.8

Contitech :881MB/BPWE36
Phoenix :1DK32-1/1DK32-36
Goodyear :1R-14-708

CF Gomma :1TC360-45
Taurus :UR836-01T

Airtech :120222/3881P
Granning :15790

WABCO :9518147080

Pirelli :1TC360-45/204530
Connect :MD1881/300520.190.2.02
BPW :05.429.40.01.0
Meritor :MLF7066

Bellow
No.
881

WO01-M5
8-8966

A

360

v

M12X1. 75

Firestone :W01-M58-8966
:1T66F-10.8

Contitech :881MB/BPW 36
Goodyear :1R14-703
Taurus :KR836-05

Dunlop FR :D14B36
Phoenix :14DK32-1
Granning :15917

Airtech :130522/3881-01K
Pirelli :1TC360-45
WABCO :9518147120
BPW :05.429.40.08.1
:05.429.40.61.1/05.429.41.36.1
Meritor :MLF7065

Bellow
No.
940MB

WO1-M5

8-8613

420

Contitech 940MB

Firestone WO1-M58-8613
IT17D-4. 3

Goodyear 1R11-703

Phoenix

1DK21K

Dunlop D11U31

CF Gomma 1TC300-30—-205536




Bellow
No.
940MB

WO01-M5
8-8609

Maxe305

350

143

LK

11,

E-M16

262

Friestone :W01-M58-8609
:1T17D-4.3

Goodyear :1R11-763
Contitech :940MB

Phoenix :1DK21K/CPL.BPW30K

Dunlop Fr:D11B39
Airtech :130202/3940K
WABCO :9518117630
Granning :15919

BPW Type :BPW30K
BPW :05.429.42.41.1
:05.429.40.93.1

Meritor :MLF7042

Bellow
No.
941MB

WO01-M5
8-8620

518

8250

Firestone :W01-M58-8620
:1T17D-8.3

Goodyear :1R11-700
Contitech :941MB
Phoenix :1DK21/50246
Dunlop FR :D11U30
Taurus :UR7300-1T
Airtech :120262/3941P
WABCO :9518117000
Granning :15901

Pirelli :1T300-36

BPW :05.429.40.02.0
:05.429.40.34.0

Meritor :MLF7047

Bellow
No.
941MB

WO01-M5
8-8619

300

M12X1. 75

M22X1. 5

Q<

i

" M16x2.0

Firestone :W01-M58-8619
:1T17D-8.3

Contitech :941MB/BPW30
Phoenix :1DK21

Taurus :KR730-01

Dunlop FR :D11B30
Goodyear :1R11-701

CF Gomma :1TC300-36
Airtech :130222/3941K
WABCO :9518117620
Granning :15918

Pirelli :1TC300-36

BPW Type :BPW30

BPW :05.429.40.28.1
Meritor :MLF7046




Bellow

CONTITECH 941MBP30

M22 x 1.5
No. fﬂ L. 2¢M12 | CF Gomma No 206356
941MB 9 CF Gomma Ref 1TC300-36
| |ﬁ ® Firestone No W01-M58-8618
B Firestone No W01-M58-8668
1 ' / Firestone Style 1T17D-8.3
© Firestone Style 1T17]J-10.3
R (o2}
Ygélgﬁs @1229 Goodyear 1R11-743
. n-‘ 0 Goodyear Flex No 566-22-3-500
i Vibracoustic VIDK21 Y1
195
- dz ©300 _
Bellow MEALiE )
N M1X15 Contitech 4390N1
O. rﬁr
4390
/! Goodyear 9507
CF Gomma 1VSC285-30
4390N1 3
Bellow ~ 248 N 155 Contitech :4390NP01
No. M16X1.5 Goodyear :9505
4390 M24X1.5 9 Phoenix :1KF21-1NP
" DunlopFR:D12T10/DT:4.80868
Airtech :34390-01K/130982
FEBI :32816/15022
4390NP Peautomotive:084.107-11A/21A
01 :084.107-41A/084.107-71A

WABCO :9518950500
Airfren:20.4390.1CM

Granning :15956

Templin :04.060.6006.940
Mertor :MLF7108

DB Truck :9423200121
Mercedes BENZ:A9423200121




Bellow
No.
4390

4390 N
P02

165

0200  _

TOP VIEW

M24x1,5 52
M16x1,5

M16x1,5

CONTITECH 4390 N P02
DUNLOP FR D12T11
GOODYEAR 9506

Bellow
No.
4390

4390N
PO3

192-482

155

C

Contitech 4390NP03

Bellow
No.
4390

4390N

P22

192-482

165

L/ ]

@200

Contitech 4390NP22




Bellow
No.
4390

4390NP
23

198-598

LImiex1.5
198

Contitech4390NP23

Bellow
No.
4390

4390NP24

400(198-598)

165

M1EX1.5

M1EX1.5

Contitech4390NP24

Bellow
No.
4183

4183 N
P25
4183 N
P23
(without
piston)

131087

2280

475

7=\

—
\

@150,8

34

310504

M24x1.5 Bg
M1 6x1.5 6H

4183 N P25
4183 N P23
(without piston)
4183 N2
34183-23 P




Bellow 4183 N P26
2280 M24x1.5 6g
No. = weiss | 4183 N P24
4183 3| (without piston)
\ 4183 N1

34183-24 P
4183 N
P26 o
4183N | °
P24
(without
piston)

\ )
&8150,8
Bellow 310504 4183 N P25
No. wwesm T _w] w | 4183 N P23
4183 2 B [34183-23K
3 ./
"/
220052
4183 N o
P25
4183 N M18x1.56H
P23
Bellow e - . 4183 N P26
No. —7@ = | 4183 N P24
4183 *FQ 34183-24 K
220052
4183 N
P26 M16x1.5 6H
5]
L

4183 N

P24




Bellow D248 6605 N P01
No. (without piston)
6605 37803 P
i
7 \
6605 N 7 Mie1 560
P01 :
(without -
piston) ¥
N @130,8 ol
Bellow Max2290 2231 Contitech 6605NP01
No. 6605 N P01
6605 Malaln 1T15LNR-6
o WO01-M58-8472
1R11-805
127
1 DF 20 D-1
6605NP01 2200 37803 K
ol V1DF20B-1
H C294VA
| 294.0.43
B
Bellow - 240(max.280) > < 231 > Granning 93807
NO. M16X1.5 /
6605 S;M24X1 .5
570
2:5
6037 i 200

)




Bellow i 275 eI Granning :92620
No. M10X1.5 ' Contitech :4560 NP 03
6605 I Volvo :2124745
595
, 4
4560 T 208
1I4
M14X2 (I
Bellow e  prz Granning :92622
M24X1.5 )
No. /M10X1.5 a Cotitech :4561 NP 02
0A6684 M16X1.57 - T
530
\_‘
160
4561 NP
02
135
M14X2 o @
Bellow . .
No e 6608NPO1 (without piston)
6608 -
VOLVO
6608NP
01(with
out

piston)




Bellow

8231

No. VOLVO
M24X1.5
0008 piiex.s 1076416
o 8 @

3171693

6608NPO1 20374510
#167
® 20456152
™
20531985
20582215
s

21961456

Contitech 6608NP01
Bellow Granning :92621
No. M24X1.5 Contitech :4570 NP 02
4570 inats Volvo :2124749

1
4570 NP
02 _T 205 168
165
l ® @
M14X2
Bellow o) CDNTITECH 4571 NP 02
No. ;«1 M24X1.3 VDLVD 21224745
4571 M10X1.5 ;'El
( M16X1.5 |
560

4571 NP -
02

M14X2




Bellow o i NISSAN

No. PT 104 TRL-200SCN
TRL-200 TOYOTA :TRS-220SCN

SCN

GE13 with bracket

6200

165-420

Bellow 4580

No.

4580
RT420.23
8-1

4580

h:510

Bellow 4580P02
No.

4580
RT420.23

8-1

11320

4580P02

M16x1.5

160

€

2226

16




Bellow Max@281 Firestone :W01-M58-6251
No. 1T15AA-3
M16X1.5
1T15AA-3 " - Goodyear :1R11-826
Contitech :50046
Phoenix :1T15S-6
Airtech :134762/36251K
WOT-M5 = Granning :15619
8 62é1 ™ Meritor:MLF7022
) SAF :503513061
Scania :1314903/1402423/255295
Bellow 260 - 231 y Firestone :W01-M58-6254
No. M10X1. 5 M16X1. 5 1T15AA-3
1T15AA-3 MT Hendrickson :HA100274
430
L\
140
WO01-M5
8-6254 L T
116
Z N\ l
\M12X1.7
Bellow #7341 GRANNING 6252
No. Firestone W01-358-9049
1T15AA-3 — @ 1T15AA-3
1T15S-6
t—“‘“—f Goodyear 1R10-036
=
WO01-358- E 241
1]
9049 -

2-12-13UNC




Bellow ey Firestone W01-358-9073 1T15S-6 1T15AA-3
No. Max®281 T T HENDRICKSON TRAILER S7193
1T15AA-3 1p-20UNC L MTBNET RIDEWELL 1003589073C
Goodyear 1R11-018

W01-358- : #7241 ;

[
9073 T

3
i
0 1
O ]
W2-20UNC
Bellow Maxg281 i Firestone W01-358-9290 1T15AA-3 1T15S-6
No 3 -1EUINE
- W2-20UNC 14-18MFT
1T15AA-3 AMERICAN CARRIER 8003-025
RIDEWELL 1003589290C
1 1an T PEERLESS
W01-358-92 | © BT
90 o
[1r2-20UNG

Bellow 273t
No.
1T15ZR-6
6839 W

318

130.5




Bellow

Firestone :W01-358-9780

270
No. 1/4ANPTE Contitech :910S-16A382
1T15ZR-6 3/4-16UNFY Goodyear :N/A
1 1213UNG ﬂ‘\ T Freightliner :16-13810-000
:Plastic Piston
584
I_|
W01-35 222
8-9780
Bellow . g 300 ol Firestone :W01-358-9781
No. q II Ty Contitech :910S-16A382
1T15ZR-6 Goodyear :1R12-603
iz-13une T Freightliner :681-320-0017
564 :A416-14004-000/Aluminum Piston
\_‘
222
WO01-35
8-9781
Bellow 264 Firestone :W01-358-9781
No. 1/ANPTE o Contitech :910S-16A382
1T15ZR-6 3/4-16UNF ¢ Goodyear :1R12-603
Freightliner :681-320-0017
R 1/2-13UNC ' :A416-14004-000/Aluminum Piston
WO01-35
8-9781S
A 400

150

v




Bellow _ 270 R Firestone :W01-358-9782
No. - 1/4NPTF -
1T15ZR-6 | 3""”““””
N112-13uNC.
Fireston
e :Wo01-
358-978
2
Bellow L n 270 3 Firestone :W01-358-9785
No. 3/4NPTF
1T15ZR-6 ' ;!;
\ 1/2-13UNC ) T
564
L
9785 992
184
¥
: —Jy v
‘1/2 13UNC
Bellow M16X1.5 Contitech :4757NP01
M24X1.5 L .
No. Goodyear:9579
1A4757 / \ Dunlop FR:S13T01
CF Gomma:1VSC300-26
304 Airtech:34757-01K/132982
Airfren :20.4757.1CM
DT :4.80374
1V5868

\ M16X1.5

Granning :15962
Peautomotive:084.111-11A
:084.111-71A

Pirelli :1VSC300-26

Templin :04.060.6006.960
meritor :MLF7164

Mercedes BENZ:A9423200117




Bellow 260 155 Contitech :4757N1
No. M16X1.5 Mercedes BENZ:A9423200001
1A4757-1 Madxle
|
|
|
|
5869SA |
| =}
| g
|
|
|
|
|
|
|
Bellow 260 155 Contitech :4757N2
No. M16X1.5 Airtech :34757-02K
1A4757-1 VEART2 N Airfren :20.1757.9CM
DT :4.80857
‘ Peautomotive:084.111-13A
} :084.111-73A
| Templin :04.010.6100.221
|
S870SA } " DB Truck :9743280101
} < Mercedes BENZ:A9743280001
|
|
|
|
|
|
Bellow . 300(max.310) 5 155 Contitech :4757NP21
No. M16X1.5 Airtech :20.1757.1Cm
1A4757-1 Rl Py 5 DT :4.80374
Peautomotive:084.111-15A
/ \ :084.111-75A
270 Templin :04.010.6100.960
Mercedes BENZ:A9423204321
5871

\ M16X1.5




Bellow 300(max.310) " 155 . Contitech :4757NP09

No. M16X1 5 Airtech:34757-02K/34757-09K

1A4757-1 W\H_ Airfren :2.0.4757.9CM
DT :4.80857/4.80574
Peautomotive:084.11--1-13A
:084.111-73A
Templin :04.010.6100.220

5872 :04.010.6100.221
Mercedes BENZ:A9743200217
:A9743200417/A9743280001
:A9743280101

N m16x1.5

Bellow 300(max.310) Contitech :4757NP09

No. Goodyear :9520

1A4757-1 M24X1.5a Dunlop :D13T02
CF Gomma:1VSC300-26
:206786
DaimlerChryler:A9743200417
Mercedes BENZ:A9743203221

5873

\ M16X1.5

Bellow N Contitech :4757Np01

No. N Airtech :34758-01K

1A4757-1 M24%1 5 Airfren :20.4758.1.Cm

ﬁ—§ A Dt :4.80375

Peautomotive:084.112-11A
:084.112-71a

— s Templin :04.010.6100.023

R M16X1.5

5

-
(—m—)l

Mercedea BENZ:A9453200017




Bellow 340(max.360) 155 Contitech :4757NP21
No. M16X1.5 Mercedes BENZ:A9453204821
1A4757-1 - E“ M24x1.5

265
5875

\ M16X1.5
Bellow M16X1.5 - 185 > | Contitech :4757NP02
No. i Airtech :34757-02K
1A4757-2 Airfren :20.4757.9Cm
DT :4.80574
o Peautomotive:084.111-13A
:084.111-73A

9868 K Templin :04.010.6100.221

T Mercedes BENZ:A9743280001

155 :A9743280101/A9743280217
l :A9743280417
Nmiexis
Bellow 300 Firestone :W01-M58-6269
1T15M-6 M24X1.5™a Herndrickson :HS505552
B% & % Mercedes :A9423280701
T AM12X1. 5

330
WO01-M5
8-6269 E

172
¥

RM12X1. 75




Bellow ~ 257 Firestone :W01-358-9079

No. : DAF TRUCK 644432

1T15M-6 (-@ 1)

W01-35

8-9079

N

Bellow ~ 257 - 231 Firestone :W01-358-9096

No. ) ; Contitech :910-16P325

1T15M-6 Goodyear :1R12-155/358
Fruehauf :UCE-1304-1
Dayton :352-9096
Loadguard :SC2051/2765
Neway :57009096

W01-35 Triangle :8325

8-9096 Hendrickson :13049
Scania :1123386

Bellow Firestone :\WW01-358-8829

No. :1T15M-6

1T15M-6 Goodyear :1R12-405/566243097
:1R12-615/1512-002
Contitech :910-16P449
Airtech :28829KPP/137212
LoadGuard :SC2757

W01-35 Note :Brachet #6027

8-8829

1/2X13-UNC

Triangle :8849/6363
Volvo :3934699/8079902




Bellow Firestone :W01-358-9219

No. :1T15M-6

1T15M-6 Goodyear :1R12-182/566243038
Contitech :910-16P441
Triangle :8408/6363
Volvo :35003-3201/35203-3203
:35223-3204/35003-3209

W01-35

8-9219

Bellow Firestone :\WW01-358-9296

No. :1T15M-6

1T15M-6 Goodyear :1S12-022/1R12-400
:566243038/566241008
Contitech :910-16P416
Triangle :8416/6363
Volvo/GM :8061151/8169868

W01-35

8-9296

Bellow 55 Firestone :W01-M58-6252

No. :1T15M-6

1T15M-6 Hendrickson :HS505862
Watson&Chalin

WO01-M5

8-6252

\

I

\ 1/2-13UNC




Bellow " 231 N Firestone :W01-455-6288
No. 1T15M-6
1T15M-6 Hendrickson :HA100053
_ 205 _
W01-45
5-6288 .
"M12X1. 75
Bellow M12:)0(1.5 5 231 - Firestone :\W01-M58-6296
No. m2ox1.5aJH] :1T15M-6
1T15M-6 B T Hendrickson :NS250009
330
W01-M5
8-6296
Bellow . 305 ) 230 Firestone :\WW01-358-9082
No. i 1/4-18UNF ) Contitech :910-16P310
1T15M-6 vIEUNG Goodyear:1R12-092/Triangle:8310
1/2-13UNC Taurus :KR506-9082
® ¢ Airtech :132302/34156-05KPP
sao | \ 140 5 Neway :90557006/27/37/54/75
WO1.35 L Dayton:352-9082/Granning:15610
e 200 HAD :PMABG9082B
8-9082 R&S Truck :1090217
N Loadguard :SC2035
T Hutchens :H-9630-01
Watson&Chalin :AS-0011
142 Ridewell :1003589082C
Iy ROR/Meritor :MLF7114

Hendrickson:36514-7/S11651
B2066/B-12514-007




Bellow 257 Firestone :W01-358-9083

No. :1T15M-6

1T15M-6 Contitech :910-16P333
Goodyear :1R12-066/566243038
Granning :1359
Note :Service Assembly#9080
Triangle :8333/6363

W01-35 Watson&Chalin :AS-0028

8-9083 Ridewell :1003589083C
Hendrickson :S1561

Bellow 057 231 Firestone :\WW01-358-9092

No. Goodyear :1R12-220

1T15M-6 Contitech :910-16P372
Holland :90557031
Hendrickson Can :S12353
:T-9-325/T-9-390

W01-35

8-9092

Bellow Firestone :W01-358-9223

No. :1T15M-6

1T15M-6 Goodyear :1R12-188/566243038
:1R12-903
Contitech :910-16P409/910-17.5P733
Reyco :12884-01/12884-01A
Triangle :8409/6363

W01-35

8-9223

Hendrickson :49185-2




Bellow - — 1285;\I7PTF > 1mrsune | 1< 231 o Firestone :W01-358-9227
No. /31a-18UNF :1T15M-6
1T15M-6 T Goodyear :1R12-130/566243038
527 Contitech :910-16P353
o Triangle :8353/6363
Hendrickson :S2924/48195-1
WO01-35
8-9227
R 4x1/2-13UNC
Bellow Firestone :W01-358-9228
No. :1T15M-6
1T15M-6 Contitech :910-16A354
Triangle :8354/6363
Hendrickson :B-3411
WO01-35
8-9228
Bellow - 257 Firestone :W01-358-9256
No. :1T15M-6
1T15M-6 Contitech :910-16P371
Triangle :8353/6363
Hendrickson :49160-OE
WO01-35
8-9256
A
U't 1/2X13-UNC




Bellow - 257 R Firestone :W01-358-9392
No. :1T15M-6
1T15M-6 Goodyear :1R12-143
:566-24-3-048
Contitech :910-16P376
Triangle :8376/6363
WO135 Hendrickson :S4773
8-9392
Bellow 257 Firestone :\WW01-358-9089
No. Contitech :4156NP09
1T15M-6 Goodyear :1R12-706
Taurus :KR506-28
Dunlop Fr:D12B16
Fruehauf :M001472/UJA0930
:1525267/UJB-027-001
W01-35 R.O.R/Meritor :21216135
8-9089
Bellow . 320 Firestone :W01-358-9361
No. v% :1T15M-6
1T15M-6 H Goodyear :1R12-716/566-24-3-502
Contitech :4156NP06
Taurus :KR-506-28
Phoenix :1DK21A-2
o1 35 Nowsy 0557075
8-9361

h\ 1/2-13UNC

Weweler :US35864F
Granning :15633

Pirelli :1T323-33

Airtech :130382/34156KPP
WABCO :9518127190

Meritor(ROR):21215761/21245762

:21216135/21226046




Bellow 2X3/4-16UNF Firestone :W01-M58-6237
No. | POHANPT :1T15M-6
A
1T15M-6 ACERBI 128145002
470 VIBERTI 128145002
! 1;0
14?
W01-M5
8-6237 v v
Bellow | 257 Firestone :W01-M58-6267
No. 1T15M-6
1T15M-6 VIBERTI 128147129
W01-M5
8-6267 |
Bellow < L > 231 Firestone :W01-F79-7349
No. FODEN 13-00522-000
1T15M-6 T
527
\_‘
203
‘WO01-F7
9-7349




Bellow

Firestone :W01-681-7368

. 257 5
No. :1T15M-6
1T15M-6 -—T Granning :12368/115692

527

\_‘

203
W01-68 - 260 .
1-7368 ] T

L=
144
n l v
Bellow 262 231 Firestone :W01-358-8824
No. “1T15M-6
1T15M-6 Tuthill-Reyco :702614-01
W01-35
8-8824
Bellow 262 - 231 »| | Firestone :W01-358-8924
No. i ” 1T15M-6
1T15M-6 Goodyear :1R12-436
3 Contitech :910-16P498
Ridewell :1003588924C

ha2T
W01-35 7

203

8-8924




Bellow

262

231

Firestone :W01-358-8927

No. i :1T15M-6
1T15M-6 A Contitech :910-12P395
! Triangle :8498/6363

5:2 Watson&Chalin :AS-0062

180
WO01-35 l< 235 B
8-8927

120
Vv | |
U’\ 1/2X13-UNC

Bellow Firestone :W01-358-8929
No. Goodyear :1R12-461
1T15M-6
WO01-35
8-8929
Bellow 257 - 231 > | Firestone :W01-358-9004
No. Contitech :910-16P394
1T15M-6 Watson&Chalin :AS-0043
WO01-35 241
8-9004




Bellow

231

Firestone :W01-358-9026

257
No. 1/2NPT Goodyear :1R12-567
1T15M-6 :1R12-907
Contitech :910-16P393
Peterbilt :03-06213/03-07111
W01-35 260
8-9026
Bellow Firestone :\WW01-358-9093
No. :1T15M-6
1T15M-6 Contitech :910-16P332
Holland :90557007/90557032
190557035
Triangle :8332/6363
WO01.35 Note :Service Assembly 0712
8-9093
Bellow Firestone :W01-358-9193
No. :1T15M-6
1T15M-6 Contitech :910-16P351
Holland :90557101
Triangle :8449/6363
W01-35

8-9193




Bellow 257 Firestone :W01-358-9194
No. :1T15M-6
1T15M-6 Goodyear :1R12-356/566243038
R l Contitech :910-16P352
1/2NPT A Prterbilt :03-05107
Triangle :8352/6363
WO01-35
8-9194
LI 1/2x13-unc
Bellow - 257 > Firestone :W01-358-9210
No. :1T15M-6
1T15M-6 Granning :2577
Triangle :8459/6363
Note :Service Assembly #9080
WO01-35
8-9210
144 1/2X13-UNC ™ 75/8X11-UNC
ﬂ l\f
Bellow 257 Firestone :W01-358-9211
No. “ > :1T15M-6
1T15M-6 Granning :2692
—T Triangle :8512/6363
527
W01-35 o
8-9211 200

L A5/8X11-UNC




Bellow 300 - Firestone :W01-358-9213/1T15M-6
1/2-13UNC H .
No. VANPTE e Contitech :910-16P441
1T15M-6 3/4-16UNF Goodyear :1R12-090/566243038
= : Dayton :352-9213
loadguard :501559C-1
330 :501559C-2/1660581C-1
Neway :90557127
WO1-35 B < Triangle :8407/8441/6363
8-9213 T
,’/k 123
- v '
I_l \\1/2-13UNC
Bellow Firestone :W01-358-9304
No. :1T15M-6
1T15M-6 Contitech :910-16P392
Holland :90557124
Note :Neway AR-90-1(15,16)
Triangle :8392/6363
WO1-35 Watson&Chalin :AS-0059
8-9304
N
|_|'t 1/2X13-UNC
Bellow . 262 Q Firestone :W01-358-9362/1T15M-6
No. Goodyear :1R12-441/566-24-3-038
1T15M-6 Contitech :910-19P391
Holland :90557113
Note :Neway AR-75(6,9)
Note :Neway AR-90-1(14,17)
W01-35 J\;ﬁzgig:j:n@i?omg
8-9362/ !

/
144

N iw

|_|'§1/2x13-UNc

"WCTA251(6.5)/WCTA280(6.5)




Bellow - > R Firestone :W01-358-9388
No. 1T15M-6
1T15M-6 Granning :3750
Triangle :8512/6363
260
W01-35 o
8-9388
1/2X13-UNC ™y
Bellow 231 Firestone :W01-358-9474
No. :1T15M-6
1T15M-6 Contitech :910-16P500
Reyco :20966-01
Tuthill :\W017559474
:2096601
Triangle :8500/6363
W01-35
8-9474
Bellow 231 Firestone :W01-358-9496
No. : 1T15M-6
1T15M-6 Contitech :910-16P547
Holland :90557208
Note :Bracket 6037
W01-35

8-9496




644

644

395

Firestone :W01-095-0118
Phoenix :1E21/Taurus:B121
Contitech :644N

CF Gomma :15285-24
Goodyear :8017

Dunlop FR :D11S01

ODS :0DS000003

BPW :02.200.24.40.0
DAF : 0689677/0696229
EVO :4.771.170.000
Granning :15620
Kassbohrer : 4771143
Neopian : 100112254
VanHool :624319-610
Volvo:1622111/1134445
MercedesBenz:A0003270101

661

391

Firestone :W01-095-0021
Phoenix :1E25/Taurus:B114
Contitech :661N

CF Gomma :1S310-28
Dunlop FR :D12S02

ODS :0DS16000004
Granning :15621

Schmitz :750208

Bussing :831120144

EVO :4.731.042.000

Iveco :4.746733/41822247
VanHool :624319-690
Kassbohrer : 4731012000
Neopian : 100112250
Volvo: 1137888/137882
IRIS/RVI : 5.001.829.866

662

360

Firestone :W01-095-0207
Contitech:662N
Goodyear:9007

CF Gomma :1S360-30
Taurus:BL143/Phoenix:1E32
Dunlop FR:D13S01
Granning :15623

Schmitz :750209
BPW:02.200.24.60.0

DAF :0578361
MAN:81.43601.0018
:81.43601.0051
Neoplan:100110200/10011251
:AA10-01-002

SMB :2680662000
VDL/DAF:0578361




701

345

Firestone :W01-095-0205
:1R3M340340

Contitech :701N
Goodyear :9006

Phoenix :1E26-1

Taurus :N116-1

Ikarus :B510040

Bova :B510040

701-2

A

370

Vibracoustic : VIE26A

715

350

Firestone :W01-095-0087
:1R1C335310

Contitiech :715N

Goodyear :8015

Phoenix :1F25

Taurus :B144

CF Gomma :1SC310-16

DC :A3633280001

Iveco :445.6111

IRIS/RVI :15.000.819.517

DAF :0659561

MAN :81.43601.0059
:81.43601.0060/81.43601.0061
:81.43601.0075/81.43601.0078
:81.43601.0081/81.43601.0083
Volvo:6885533




762

390

Firestone :W01-095-0190
:1R2D390360
Contitech:762N/Phoenix:1F32
Goodyear:9010/Taurus:B143
Dunlop FR :D13S02

CF Gomma:1SC360-30

BPW :02.200.24.20.0
EV0:4.731.013.000
Giant:196035/Gigant:161210
Kassbohrer:4731013000
Mercedes Benz:A3823277101
MAN :81.43601.0049
:81.43601.0052

Neoplan :102100300

DAF :0644425

769

769

380

Firestone :W01-095-0204
:1R1A380260

Contitech :769N
Goodyear :8053
Phoenix :1E18

Taurus :B156

Dunlop :D10S02

CF Gomma :1SC240-30
Menarini :252933

CF Gomma :1S323-23
IRIS :5.000.786.640
:5.000.786.641
:5.000.805.284

RVI :5.000.805.284
Van Hool :624319-860

882

465

Firestone :W01-095-0435
:1R4R465260

Contitech :882N1

Goodyear :9048

Phoenix :1F16

Taurus :B155

CF Gomma :1SC250-28
MAN:81.43601.0065
:81.43601.0067/81.43601.0070
:81.43601.0092/81.43601.0099
:81.43601.0103/81.43601.0121
:81.43601.0132

Mercedes Benz:A6583280101
:A6993280101




916

T
11111
lllll

916

460

Contitech :916N1

Goodyear :9015

Gart :C289C1

Phoenix :1F21C5

Dunlop FR :D12S05

Taurus :B154

Springride :D12S05
Vihracoastic:V1F21C5

Airtech :3916

MAN :81.43601.0126
:81.43601.0105/81.43601.0102
:81.43601.0100/81.43601.0097
:81.43601.0095

WABCO :896.130.119.4

945

435

Firestone :W01-095-0063
:1R1A460290

Contitech :945N

Goodyear :9014

Phoenix :1E21C/Taurus:K152
Dunlop FR :D11S02
Dunlop Uk :PNP301000101
CF Gomma :15282-25

CF Gommaz :97555
Airtech :3945

Menarini :178741

levco :4716989

Scania :523229
WABCO:8961301944




Cross Section View

Max. 145

G1/8 ME*1 .25

Top View/Bottom View

—

Contitech : FS 40-6 1/8
MS

Phoenix SP1B04
Weforma WBEI00-E1

1B70-7
1B6-530
LG4
7
2
'
- o1 -
ma 0%5 =
d, 00 .
_ 1B8*4
MAX 7-"“(1
Lz 1B8-550
3 zi::lﬁITNt."
1B9*5
MAX 210 -
- 160 - 80 80 1B9'202
1/INPTF -

3/8-16UN(




Rt 2E200-19
S FD200-19 320
W01-358-6910
2B9-200
MIOX1. 5
iy
=224 2E200-19 P01
_M20X1.5
= FD20019 S/ 895 N

L

2-3/8—16UNC,/

WO01-358-0138
2B9-200
578923202
2B12R

T20 86600

<160
M10X1.5

{ MI2X1.5

10

9

'M10X1. 5

2224

—

2E200-19 P04
WO01-M58-7894
2B9-287

2223

| 3/8-16UNC
L 2160

2E20F-2
WO01-358-6943
2B9-250




2E20F-2 P02
FD200-25 453
WO01-358-6927
2B9-218

2E20F-2 P03
FD200-25 429
WO01-358-6946

2B9-251
3/8—16UNC
=160
#5993 2E20F-2 P04
1/4NPT M12X1.75
M18¥1.5 | FD200-25 454

WO01-358-6944

2B9-252
&0 —0—o—
| !
M12X1. 75 86 89
=160
@223 2E20F-2P05
3/8-16UNC
1/4NPT FD200-25 428

WO01-358-6947
2B9-255




2E20F-2P06

2E20F-2P07

2E20F-2P09

2E22-3

WO01-358-0226

2B22R

FD 330-22 301

WO01-358-7410




2113

1/2-14NPT 2E2300
[
2 o L
2) X
|
3/8-16UNC
2125
®152
®113 2E2500
1/2-14NPT
3/8-16UNC
$181
1/2-14NPT 2E2600

212

3/8-16UNC
D140

1E383




@287

Ey.m 1/INPT
M18X1.
i

2E383
FD530-35 530
WO01-358-7557

i
[\ 2B14-383
hre
287 2E383 P02
1/ANPT
S MIBXL B
Sssss
/'J/,: - r—— 2
HHH
WXL 75
. 235
_ 2E383 P03
$113 2E6*6
3/8-16UNC 1/72NPT
FD70-13

3/8-16UNC
145




3/8-16UNC

2E6*6 P02

max 175
min 65

~

o 2E7*7
. 3/8-16UN(
$17¢
2E7*7 P01
3E11%3
FT330-29 498

WO01-358-8030

2X3/8-16UNC

$231




3E11*3 PO1
FT330-29 546
WO01-358-7994
3B12-328
AS-0019-1F

1/2-145P1 3/8-16UNC

3E11*3 P02
FT330-29 432
WO01-358-8010

3B12-301
4231
3E11*3 P03
Wit
AR
3E11*3 P04

SESRAREARAMA NN
ARV

2X3/8-16UNC”
231

FT330-29 520
WO01-358-7996
3B12-335




1/4NPT

/gy, s M2KLTS

3E11*3 P05
FT330-29 466
WO01-358-8027/8029
3B12-310

Bt

3E11*3 P06
3B310HYO

M o
—J

3E11*3 P07
FT330-29 466
WO01-358-8027/8029

! 3B12-310
3E11*3 P08
FT412325
- 3B300HYD
..1 115005

SP2597RE12%*3




I/ 4NPT

.u..n.'Jlm'JIl'J[HIIJI
LTI

3E11*3 P09
FT330-29 466

WO01-358-8032/FT330-2
9

3B12-310
Ly
3E11*3 P10
b b e T
2113 3E2300
1/2-14NPT
3/8<16UNC
2125
3E383

H12X1, 75
235




3E383 P02

2E70-13

, 2110. 5
2XM8X1. 25 rw 1/4NPT
44. 5
©O®
‘ 44. 5
ERLCOR RGOS
2XM8X1. 25 I
2110. 5
=160
=224

2160 ,
3/ 4—16UN

E’— 1/ANPT
E. =

2E200-19 PO5

WO01-358-6897

2E383 P05




_ 4AX3/8-16UNC

| laxa/s—16UN

2E383 P06

WO01-358-7136

_M12X1. 75 M12X1. 75

2E383 PO7

7

Vdddddddaitanainin,

ARNRRRRARA R
T
AT

i
A\NAARRRRRARRRAAAL

U

i
1l

AW

X

3E11*3 P11

3B-310HYD 115009

3E383 PO4

WO01-358-7008

FS370-11474

IB12-3001313




1E383

1B5020

M IOXT, 5

IXMIOXE. &

1E8*4 P01

3/8-16UNC
194

1E9*5

1B5061

1B9-202

578 91 3201

2E2300GZ




2E120-17

FD120-17

113053

2B-181

2E120-17 PO1

WO01-M58-6353

FD120-17

2B-181

2E200-19 GMT
PO1

2E200-19 GMT




NPT

2E70-13

FD70-13

3E11*3 P12

3E11*3 P13

W01-358-803
3

3E383 PO4




1./4—18NPT,

~] 34— 1 6UNF

SP3207

2E20F-2

SP3207 PO1

2E20F-2

SP3208

2E20F-2

SP3209

3E383




SP3211

3E383




